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There afe 2 questions.

Stast 2 new booklet for each question.

All necessary wotking should beshown in every q;lf’:su'on.

Full miatks may not be aSvarded if work is careless ot badly arranged.
Approved calculatfs may be used.

*
T A% Question 1 (19 Marks) - Start a new booklet

Show that 4 O>/f/:1-\I5 —Lz‘ using first principles
dx X X

Find:

X

s

{i) . theeguation of the tangenttoy =—~ at the point (L,1) -

i) a énd b ifthe funcfion y =ax® +5b has a tangent at (-4,10) that is

par;aﬂe‘l to 2y—8x-1=0
Find f(x) in it's simplest form if

3-2x

f)= =




{e) Thecurve y=x’—kx is drawn below.

Ay

A

Hy

{0 Show that the x intercepts octur when x=0 and x=k
(i) Find the gradient of the tangenits at the x intercepts

(iiy  Ifthe angle between the two tarigents is 30° 'what is the value of k?

End of Question 1

Question 2 (21 Marks) - Start a new booklet

a)

b)

d)

MARKS

What is the exact values of:
) tan 330° ' 1
if) cosec 300° 1
A and B are two lighthouses, A being 20 km due north of B. "The bearing 4
of a ship is 145°T from A and 055°T from B. Calculate the distance of
each lighthouse from the ship.
The sides of a trianguiar field are 60 metres and 50 metres and.the
included angle is 140°. Calculate
i) the length of the third side by using the cosine rule, 2
i) the aréa of the field. ) : 2
Find all values of 8 between 0° and 360° for which sin& =
Prove the identity:

cosf 3

———tan & =secd
1—-sind
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) f@no=-7 and 180° <6 <3607, find the vaiyé of sing. )
PR _\v/ H y 2

-~
.‘-/
g)  Simplify sin® 8 +sinGcos’ 8 1
o TN 3
h)  Simplify xz—ﬂin x=gie’cﬂ/

End of Exam
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